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Question Number : 1 Question Id : 87827044095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the correct term for the "Portrait Head"?

1. Bust

2. Torso

3. Life Size

- Seating Statue

F =N

Options :

878270173241. 1
878270173242. 2
878270173243.3

878270173244. 4

Question Number : 1 Question Id : 87827044095 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options :

878270173241.1
878270173242. 2
878270173243.3

878270173244. 4

Question Number : 2 Question Id : 87827044096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The book 'Cire Perdue Casting in India’ is written by:

1. Dr. Ananda K. Coomaraswamy
2.Dr. M_V. Krishnan

3. Dhanraj Bhagat

4 K.S Radhakrishnan

Options :

878270173245. 1
878270173246. 2
878270173247. 3

878270173248. 4

Question Number : 2 Question Id : 87827044096 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR U] SIET 34 Sfsar g 9 g fafad §:

1. B1. g . PARM]
2. Sl uH. 4. $9H

3. Y- YId
4. & TY. AYTHUH

Options :

878270173245. 1
878270173246. 2
878270173247.3

878270173248. 4

Question Number : 3 Question Id : 87827044097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Another technical term used for the Lost Wax Processis...._...._.__.

1. Cire Perdueica
2. Cire Perdue

3. Pire Perdue

4 Perdue-de -Cire

Options :

878270173249. 1
878270173250. 2
878270173251. 3

878270173252. 4



Question Number : 3 Question Id : 87827044097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Al 399 UL & foIT ugiv a1 <14 91e U 3R d@Hid! 9k 2

i R,

1. R degg@1
2. R U=y
3. R Wweyg
4 US4 SRR

Options:

878270173249. 1
878270173250. 2
878270173251. 3

878270173252. 4

Question Number : 4 Question Id : 87827044098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the use of Vent in metal casting?

1. Maintaining Heat
2. Releasing Gas
3. Releasing Metal
4 Holding Core

Options :

878270173253. 1
878270173254. 2
878270173255. 3

878270173256. 4



Question Number : 4 Question Id : 87827044098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hod st | fivg o1 901 IUgiT gidl 892
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3. YTq &1 HEEA
4. H1S Dl Udhs el

Options:

878270173253. 1
878270173254. 2
878270173255. 3

878270173256. 4

Question Number : 5 Question Id : 87827044099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which two materials are mixed with resin to make fibre glass?

1. Catalyst and Wax

2. Accelerator and Catalyst
3. Thinner and Accelerator
4 Qil and Catalyst

Options :

878270173257. 1
878270173258. 2
878270173259. 3

878270173260. 4



Question Number : 5 Question Id : 87827044099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR WY a4 & ot foo- &l Irafial &1 1d & Iy fHcmn 95 82

1. IaR® 3R 79
2 @ IR JoRD
4. dd 3R IaR®

Options:

878270173257. 1
878270173258. 2
878270173259. 3

878270173260. 4

Question Number : 6 Question Id : 87827044100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"Ashtdhatu"Metal has following composition:

1. Gold, Iron, Mercury, Silver, Tin, Silica, Zinc and Aluminium

2. Gold, Silver, Copper, Tin, Zinc, lron, Lead and Mercury

3. Gold, Iron, Copper, Mangenese, Zinc, Lead, Tin, and Silica
4 Gold, Iron |, Silver, Mangenese, Zinc, Lead, Silica and Copper

Options :

878270173261. 1
878270173262. 2
878270173263. 3

878270173264. 4



Question Number : 6 Question Id : 87827044100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"HEHT" T & HEcRed 992 o

1. 91, diel, URT, 9idl, fe-, R, o SR uegdias
2 g1 9igl dfar e, o gl 991 3R Rl

3. 9T, digl. didn, S, o, 9, o iR A
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Options:

878270173261. 1
878270173262. 2
878270173263. 3

878270173264. 4

Question Number : 7 Question Id : 87827044101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the highest boiling point of the Gold ?

1. 2836°C
2.1970°
3. 1070°C
4 3970°C

]

[=]

Options :
878270173265. 1
878270173266. 2

878270173267. 3



878270173268. 4

Question Number : 7 Question Id : 87827044101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WUl &1 Jad HYATH T 82

1. 2836°C
2.1970°C
3.1070°C
4 3970°C

Options :

878270173265. 1
878270173266. 2
878270173267.3
878270173268. 4

Question Number : 8 Question Id : 87827044102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the ratio of the White Metal ?

1. Tin- 95% and Antimony-8%

2. Tin- 80% and Zinc-12%

3. Tin- 75% and Copper-20%

4. Aluminium- 85% and Antimony-10%

Options :
878270173269. 1
878270173270. 2

878270173271.3



878270173272. 4

Question Number : 8 Question Id : 87827044102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ¥Tq BT 3R 1 52

1. f&=1-95 ufawd SR tdH=1-8 ufaea

2 feq-80 ufawd iR fSi®-15 ufo=

3. fé9-75 ufa=ia 3R afe1-20 vz

4. UegHi-TgH-85 Ufderd SR ¢dH-1-10 ufa=rd

Options :

878270173269. 1
878270173270. 2
878270173271.3

878270173272. 4

Question Number : 9 Question Id : 87827044103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the use of "Piece Mould" ?

1. for multiple casting.
2. for single casting.
3. for half casting.

4 for full casting.

Options :
878270173273. 1
878270173274. 2

878270173275. 3



878270173276. 4

Question Number : 9 Question Id : 87827044103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"UIY HiTs" B 1 IYGIT 82

2 UHd PIReT & AU
3. 3G P & U
4 qof @i & fom

Options :

878270173273. 1
878270173274. 2
878270173275. 3

878270173276. 4

Question Number : 10 Question Id : 87827044104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which metal casting process dry clay mould is used?

. Dogra Casting

. Cement Casting
- Fiber Casting

. POP Casting

B A o

Options :
878270173277. 1
878270173278. 2

878270173279. 3



878270173280. 4

Question Number : 10 Question Id : 87827044104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopg uIq cars ulehar § 9@ gt & 9id &1 SuanT il ol 82

1. ,_:,-\ll q ch-l .,_-:j
EFﬂ-_:l?ich. ]

4 diIdl garg

Options :

878270173277. 1
878270173278. 2
878270173279. 3
878270173280. 4

Question Number : 11 Question Id : 87827044105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the density of the lron ?

.6.87
. 1.87
. 0.85
- 4.86

B A o

Options :
878270173281. 1
878270173282. 2

878270173283. 3



878270173284. 4

Question Number : 11 Question Id : 87827044105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

die &I Ui o1 87

1.6.87
2. 787
3. 585
4 4386

Options :

878270173281. 1
878270173282. 2
878270173283. 3

878270173284. 4

Question Number : 12 Question Id : 87827044106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the Melting point of Bronze ?

0°F to 2000°F

50°F to1750°F
2
50°F to1800°F

Options :
878270173285. 1
878270173286. 2

878270173287.3



878270173288. 4

Question Number : 12 Question Id : 87827044106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I BT TS fig 187

1. 1650°F ¥ 1750°F
2. 1550°F ¥ 1750°F
3. 1920°F ¥ 2000°F
4. 1750°F T 1800°F

Options :

878270173285. 1
878270173286. 2
878270173287. 3

878270173288. 4

Question Number : 13 Question Id : 87827044107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following which one is called "A.B.C. Compound"?

1. Liquid Plaster
2. Liquid Clay
3. Liquid Rubber
4. Liguid Gas

Options :
878270173289. 1

878270173290. 2



878270173291. 3

878270173292. 4

Question Number : 13 Question Id : 87827044107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad | O f&9 v & O Oife” $el ol 52
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Options:

878270173289. 1
878270173290. 2
878270173291. 3

878270173292. 4

Question Number : 14 Question Id : 87827044108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which techniques of metal casting has been used in different parts of the India like-Orissa, Ranchi. Bustar and West
Bengal?

1. Sand Casting
2. Dogra Casting
3. Italian Casting
4 Cire Perdue Casting

Options :

878270173293. 1



878270173294. 2
878270173295. 3

878270173296. 4

Question Number : 14 Question Id : 87827044108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd o fafi el o3t e, ¥R 3 Ui S H o1 GalTs 9 [ adbeiiao! o1 ST (ool T 2

2. BRI ¢l

3 004 ol

Options:

878270173293. 1
878270173294. 2
878270173295. 3

878270173296. 4

Question Number : 15 Question Id : 87827044109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Artisans of Pondicherry use the following oil to mix with wax for the lost wax casting-

1. Castor Ol
2. Margosa Qi
3. Sesame Ol
4. Almond Ol

Options :

878270173297. 1



878270173298. 2
878270173299. 3

878270173300. 4

Question Number : 15 Question Id : 87827044109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UitedRl & BRITR Tt 9o @l & fo1e AiF @ 91 e & T e o &1 Suai ovd &

1 B dd
2 AT ad
4. 9IGH @1 ddl

Options:

878270173297.1
878270173298. 2
878270173299. 3

878270173300. 4

Question Number : 16 Question Id : 87827044110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the Luto ?

. Waste of Investment
- Waste of POP

- Waste of Wood

- Waste of Sawdust

B T o

Options :

878270173301. 1



878270173302. 2
878270173303. 3

878270173304. 4

Question Number : 16 Question Id : 87827044110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. Fa @1 SRy
2 Uraiidi &1 SRy
3. DI DI AURY
4. R BT 3UfAY

Options:

878270173301. 1
878270173302. 2
878270173303. 3

878270173304. 4

Question Number : 17 Question Id : 87827044111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the use of "Sprue” in metal Casting ?

1. for running metal.

2. for releasing the gas

3. for protecting the investment.
4 for safe guarding the core.

Options :

878270173305. 1



878270173306. 2
878270173307. 3

878270173308. 4

Question Number : 17 Question Id : 87827044111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y1q Gails H Y B 71 JUGHT 57

1. YT 418 & foe

2. 1 3o o fag
3. Faw @1 Ran & fag
4. 1S B & & e

Options:

878270173305. 1
878270173306. 2
878270173307. 3

878270173308. 4

Question Number : 18 Question Id : 87827044112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The running path of melted metal in metal casting is called -

_Sprue

- Luto
_Investment
Cone

AW N -

Options :

878270173309. 1



878270173310. 2
878270173311. 3

878270173312. 4

Question Number : 18 Question Id : 87827044112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT STy H [UHel g5 ¢ & dig & AR & del oldl &

1.4

=
2. ¢cl
3. a9
4. AP

Options:

878270173309. 1
878270173310. 2
878270173311. 3

878270173312. 4

Question Number : 19 Question Id : 87827044113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which metal casting we use the"reservoir” ?

1. Bronze

2. lron

3. Aluminium
4 Copper

Options :



878270173313. 1
878270173314. 2
878270173315. 3

878270173316. 4

Question Number : 19 Question Id : 87827044113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 69 UIg Gars § 'YEaRR” $T JUgRT $d 872

1. B
2. @lel

3 G'ﬂ__lfl 08

4. didl

Options :

878270173313. 1
878270173314. 2
878270173315. 3

878270173316. 4

Question Number : 20 Question Id : 87827044114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Indian scripture the techniques of metal casting has been described?

_ Shilpratanam
~Vishnudharamotar Puran
- Megh Dutam

- Natyashastram

A



Options :

878270173317. 1
878270173318. 2
878270173319. 3
878270173320. 4

Question Number : 20 Question Id : 87827044114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 URd™ Y T 1 STa- &1 Tdh-1d] &I aui- [T 11 87

1. e

2. TawremioR T
3. HYgdH

4 Trea9RaH

A

a1,

Options :

878270173317. 1
878270173318. 2
878270173319. 3
878270173320. 4

Question Number : 21 Question Id : 87827044115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one is primary clay?

1. Red Clay

2. Organic Clay
3. Residual Clay
4 Green clay



Options :

878270173321. 1
878270173322. 2
878270173323. 3
878270173324. 4

Question Number : 21 Question Id : 87827044115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®H Hl WUHS qits 52

1. T Haa@

Options :

878270173321. 1
878270173322. 2
878270173323. 3
878270173324. 4

Question Number : 22 Question Id : 87827044116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What portion (ratio) of Copper is added to make alloy Bronze for Sculpture?

1. 25% Copper
2. 40% Copper
3. 65% Copper
4 85% Copper

Options :

878270173325. 1
878270173326. 2
878270173327.3

878270173328. 4

Question Number : 22 Question Id : 87827044116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hideran & fou Hieg My 41 S99 & T8 did &7 fobd=T1 41T (3UTd) e Sl g2

1. 25 Ufa=rd dier
2. 40 UicR=Id didT
3. 65 Ufc=Id didT
4. 85 UicRId didl

Options:

878270173325. 1
878270173326. 2
878270173327.3

878270173328. 4

Question Number : 23 Question Id : 87827044117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

What is the highest temperature measured for Earthernware Clay in Celsius?

1.1090°c
2.1490°C
3.1890°C
4.1990°C

Options :

878270173329. 1
878270173330. 2
878270173331. 3

878270173332. 4

Question Number : 23 Question Id : 87827044117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heurd! & fore Tfchas # |91 9H arel 3wad di9dH 1 87

1.1090°C
2.1490°C
3.1890°C
4.1990°C

Options:

878270173329. 1
878270173330. 2
878270173331. 3
878270173332. 4

Question Number : 24 Question Id : 87827044118 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the highest temperature measured for Pure Clay (Kaolin) in Fahrenheit?

1.2000° F
2.1000° F
3.3000° F
4 4000°F

Options :

878270173333. 1
878270173334.2
878270173335.3

878270173336. 4

Question Number : 24 Question Id : 87827044118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BIAeISe | XG Gl (@13iiie) & 78 911 I arel 3=3dd didaH a4l 82

20007 F
10007 F
30007 F
40007 F

A I

Options :

878270173333. 1
878270173334. 2
878270173335. 3

878270173336. 4

Question Number : 25 Question Id : 87827044119 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What portion (ratio) of Lead is mixed to make Gunmetal?

th O -2
= IR = R -]
. &= &=

i =
P — — LR
=
=]
x

Options :

878270173337. 1
878270173338. 2
878270173339.3
878270173340. 4

Question Number : 25 Question Id : 87827044119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & o e U1 & faa- YR (Sfura) &f fHdmn S g2

CO

I 1
10%
. 15%

- 20%

AW N =

Options :

878270173337. 1
878270173338. 2
878270173339. 3

878270173340. 4



Question Number : 26 Question Id : 87827044120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the highest temperature measured for Lost Wax Casting (De-Waxing process) in Celsius?

1.500°C
2.600°C
3.900°C
4.1000°C

Options:

878270173341. 1
878270173342.2
878270173343. 3

878270173344. 4

Question Number : 26 Question Id : 87827044120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qiee g @IeT (S1-afa ufean) & fou Uieqgy o AT 9 a1 o JudHE &1 67

1500
2.600°C
3.900°C
4.1000°C

Options :

878270173341. 1
878270173342. 2
878270173343. 3

878270173344. 4



Question Number : 27 Question Id : 87827044121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which metarial holds the Cavity in metal casting?

1. Core Pin

2. Investment Pin
3. Pouring Cup
4 Grox

Options:

878270173345. 1
878270173346. 2
878270173347.3

878270173348. 4

Question Number : 27 Question Id : 87827044121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YTd 1 Galls H el &I & 91 Uary ¥R SHdl 8?

1. wigfia
2 g g
3. gif &y
4 T

Options :

878270173345. 1
878270173346. 2
878270173347.3

878270173348. 4



Question Number : 28 Question Id : 87827044122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calcium Aluminium Silicate is used to make which maternal?

1. Castland Concrete
2. Portland Cement
3. Denseland Cement
4 Rustsand Cement

Options:

878270173349. 1
878270173350. 2
878270173351. 3
878270173352. 4

Question Number : 28 Question Id : 87827044122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FieRrad Teghitgd faftde &1 Suan g Il &1 &9 & for far S 82

1. RS hhie
2 Uidcts difge
3. 8gcis Uife
4 Tels dige

Options :

878270173349. 1
878270173350. 2
878270173351.3

878270173352. 4



Question Number : 29 Question Id : 87827044123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the standard setting time of High Alumina Cement

1. 2 Hrs
2.3 Hrs
3.4 Hrs
4 5 Hrs

Options:

878270173353. 1
878270173354. 2
878270173355. 3

878270173356. 4

Question Number : 29 Question Id : 87827044123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Uit Wit &1 A AT Ty an g

1. 29
2 34e
3 44e
4 54

Options :
878270173353. 1
878270173354. 2

878270173355. 3



878270173356. 4

Question Number : 30 Question Id : 87827044124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the standard Curing time of High Alumina Cement?

1. 15 Hrs
2. 18 Hrs
3. 24 Hrs
4 30 Hrs

Options :

878270173357. 1
878270173358. 2
878270173359. 3

878270173360. 4

Question Number : 30 Question Id : 87827044124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 UegiiHl HiHe & SUgR @1 Hi-d 999 A1 872

1.154¢
2 18 4¢d
3. 24 ¢
4 309e

Options :
878270173357. 1
878270173358. 2



878270173359. 3
878270173360. 4

Question Number : 31 Question Id : 87827044125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crucible is made of which matenal?

. Silicon Carbide
- Silica

- Resin

Japan Ink

B T o

Options:

878270173361. 1
878270173362. 2
878270173363. 3

878270173364. 4

Question Number : 31 Question Id : 87827044125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ooy

piued fg It I &1 82

1. fafceH oEiss
2. fafear

3.3

4S9 el

Options :
878270173361. 1

878270173362. 2



878270173363. 3
878270173364. 4

Question Number : 32 Question Id : 87827044126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slip Casting can be done by which material?

“PoP
Clay
. Cement
- Sand

B T o

Options:

878270173365. 1
878270173366. 2
878270173367. 3

878270173368. 4

Question Number : 32 Question Id : 87827044126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&qu wifeT foog Ol g1 &1 & T&dl 22

e
2
A

Options :
878270173365. 1

878270173366. 2



878270173367.3
878270173368. 4

Question Number : 33 Question Id : 87827044127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sculptures painted in many colouriscalled ... .

1. Bi-chrome

2. Polychrome
3. Manychrome
4 Monochrome

Options:

878270173369. 1
878270173370. 2
878270173371.3

878270173372. 4

Question Number : 33 Question Id : 87827044127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. G3-HH
3. §HImH
4. AFRH

Options :

878270173369. 1



878270173370. 2
878270173371. 3

878270173372. 4

Question Number : 34 Question Id : 87827044128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the use of Emery Compound?

- Separator
Polish

- Hardner

. Binding

T I

Options:

878270173373. 1
878270173374. 2
878270173375. 3

878270173376. 4

Question Number : 34 Question Id : 87827044128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sl Giffie &1 31 SUERT 82

2 qiferd
3. Ble R

Options :

878270173373. 1



878270173374. 2
878270173375. 3

878270173376. 4

Question Number : 35 Question Id : 87827044129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which process is being used for plating of one metal evenly on to the surface of another?

1. Patina

2. Buffing

3. Metal Spraying
4 Electroplating

Options:

878270173377. 1
878270173378. 2
878270173379. 3
878270173380. 4

Question Number : 35 Question Id : 87827044129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Tiishan 1 IUEIT @ ot U ¥ 1 GIR 1 Yaie W GHH & U g & U i1 1 e 87

1. e
2. §ithT
3. 41 I fgsPa

Options :



878270173377. 1
878270173378. 2
878270173379. 3

878270173380. 4

Question Number : 36 Question Id : 87827044130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the standard range temperature of Biscuit firing in Celsius?

1. 620° to 820° C
2.850°to 1020° C
3.980°to 1180° C
4 1080° to 1220° C

Options :

878270173381. 1
878270173382. 2
878270173383. 3

878270173384. 4

Question Number : 36 Question Id : 87827044130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufeaag o fafSpe Bl &1 9He 941 auaF &1 22

1.620° ¥ 820° C d®
2 850°9 1020° C &
3.980° 9 1180° C 0@
4.1080° ¥ 1220° C d@



Options :

878270173381. 1
878270173382. 2
878270173383. 3
878270173384. 4

Question Number : 37 Question Id : 87827044131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gelatine is used for which type of mould?

- Waste Mould

- Mother Mould
. Piece Mould

- Flexible Mould

B T

Options :

878270173385. 1
878270173386. 2
878270173387. 3
878270173388. 4

Question Number : 37 Question Id : 87827044131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreife BT IUdRT {4 UbR & Tid & 7Y fosgr St g2

1. 9% T
2. &3 gidn
3. UG I
4. TRifeTEd gl




Options :

878270173385. 1
878270173386. 2
878270173387.3
878270173388. 4

Question Number : 38 Question Id : 87827044132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the fullform of GRP?

1. Glass Refined Pulps

2. Glass Reinforced Plastic
3. Glue Reinforced Plastic
4. Glue Refined Pulps

Options :

878270173389. 1
878270173390. 2
878270173391. 3

878270173392. 4

Question Number : 38 Question Id : 87827044132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S SR 41 &1 3R w1 82

1. " RBES 0ol

2 1A RETeis wie®
3. 7Y A0S wifes
4 Y TPTEs Ue

Options :

878270173389. 1
878270173390. 2
878270173391. 3
878270173392. 4

Question Number : 39 Question Id : 87827044133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mame the tool used to carve Wood?

- Mallet

- Hammer
- Drill

. Spatula

B T o

Options:

878270173393. 1
878270173394. 2
878270173395. 3

878270173396. 4

Question Number : 39 Question Id : 87827044133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



i

HTE B W & AT ITTHT fHT 9 ared TS0 BT 711 Fd150?

1. fcie
2 gulel
3. f&a
4. T

Options :

878270173393. 1
878270173394. 2
878270173395. 3
878270173396. 4

Question Number : 40 Question Id : 87827044134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the standard Mesh size in per square Inch?

- 16mm/sq inch
- 20mm/sqg inch
24mm/sqg inch
- 28mm/sq inch

B T o

Options:

878270173397. 1
878270173398. 2
878270173399. 3

878270173400. 4

Question Number : 40 Question Id : 87827044134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ufd gt S 1 OHG Sl $1 DR F1 32

1. 16 @i 29
2 20 faHiEe 29
3. 24 fdiEe 29
4 28 faeiEe 29
Options :

878270173397. 1
878270173398. 2
878270173399. 3

878270173400. 4

Question Number : 41 Question Id : 87827044135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which material has no inherent structural quality?

1. Wood
2. Granite
3. Marble
4 Clay

Options:

878270173401. 1
878270173402. 2
878270173403. 3

878270173404. 4

Question Number : 41 Question Id : 87827044135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



i
I

T TRl B B St TReTe® e T8t 2

1. DI

2 UEe
3. AT
4. i@

Options :

878270173401. 1
878270173402. 2
878270173403. 3

878270173404. 4

Question Number : 42 Question Id : 87827044136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which single material is used for Brazing technigue process?

1. Copper

2. Alloy

3. Aluminium
4 Zinc

Options:

878270173405. 1
878270173406. 2
878270173407. 3

878270173408. 4

Question Number : 42 Question Id : 87827044136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ol Td-1d Ufrdr o foe i Toha uar & S9anT fedl 9ian 872

1. didl
2 THY a1g

3. TegHIAgH
4 5@

Options :

878270173405. 1
878270173406. 2
878270173407. 3

878270173408. 4

Question Number : 43 Question Id : 87827044137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is called 'Masticated Paper'?

1. Paper Laminating
2. Paper Mache

3. Paper Pulp

4. Paper Casting

Options:

878270173409. 1
878270173410. 2
878270173411.3

878270173412. 4

Question Number : 43 Question Id : 87827044137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Afedhes YUY &I & Del Jal 22

2 TR O
3. TR U™
4 TR ST

Options :
878270173409. 1
878270173410. 2

878270173411.3

878270173412. 4

Question Number : 44 Question Id : 87827044138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The function of Soft soap and Liquid detergentisto ...

_ Finish the mould

. separate the mould
. Bind the mould

- Harden the mould

B T o

Options:

878270173413. 1
878270173414.2
878270173415. 3

878270173416. 4

Question Number : 44 Question Id : 87827044138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



?

et

TRH G 3R T3 feesic & & Al

1. Gid BT G AT
3. gid & FieA
4 Gid B B B

Options :

878270173413. 1
878270173414.2
878270173415. 3

878270173416. 4

Question Number : 45 Question Id : 87827044139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The function of Shellacisto ... ..

1. Loosen the surface
2. Melt the surface

3. Harden the surface
4 Texture the surface

Options:

878270173417.1
878270173418. 2
878270173419. 3

878270173420. 4

Question Number : 45 Question Id : 87827044139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Teid DI &

1. Hdg DI eidl Bl
2. de 3l [ggamr
3. Udg ol T &l
4. g &1 ga4

Options :

878270173417. 1
878270173418. 2
878270173419. 3

878270173420. 4

Question Number : 46 Question Id : 87827044140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|dentify the process of Stone carving step by step?
(A). Rock

(B). Stone Block

(C). Spliting

(D). Pitchering

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

F.g {A‘~ (C), (B), (D)

(B), {ﬁﬂl (D), (C)

4 {C,:-. ), (D), (A).
Options:

878270173421. 1



878270173422. 2
878270173423. 3

878270173424. 4

Question Number : 46 Question Id : 87827044140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &1 4D ] IRUI-GL-RU] Uishdl &l UgdH BH1?
(A). d&T4

L)

(B). URR 1 siich

(C). TayeH
(D). PEIE]
-td feu e fadedl & ¥ gl IR -
1. (A), (B). (C), (D)
2. (A), (C), (B), (D)
3. (B), (A), (D), (C)
4. (C), (B), (D), (A)
Options:

878270173421. 1
878270173422. 2
878270173423. 3
878270173424. 4

Question Number : 47 Question Id : 87827044141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Process of Metal Casting stepwise Is..........
(A). De-Waxing

(B). Waxing

(C). Runner Releasing

(D). Metal Pouring

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270173425. 1
878270173426. 2
878270173427.3

878270173428. 4

Question Number : 47 Question Id : 87827044141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YIq CalTs @1 Hishal IRUES &
(A). Si-afdT

(B). dfeRi

(C). TR i

(D)

Options :

878270173425. 1
878270173426. 2
878270173427.3

878270173428. 4

Question Number : 48 Question Id : 87827044142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct process of Metal casting Sculpture?
(A). Patination

(B). Runner Releasing

(C). Pouring

(D). Brazing

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270173429. 1
878270173430. 2
878270173431. 3

878270173432. 4

Question Number : 48 Question Id : 87827044142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YTd Tals qiddal &1 Yol Uil g
(A). Ufe3TH
(B). X "SI

(D)

Options :

878270173429. 1
878270173430. 2
878270173431. 3

878270173432. 4

Question Number : 49 Question Id : 87827044143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Write the process of Stone Sculpture making step by step?
{A).Grinding

(B).Pitchering

(C).5tone Block

(D).Carving

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270173433. 1
878270173434.2
878270173435. 3

878270173436. 4

Question Number : 49 Question Id : 87827044143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR 1 Hiddal Bl Uishdl I TRU-GR-aR0 ford-
(A). T13TST
(B). fu=f

Options :

878270173433. 1
878270173434.2
878270173435. 3

878270173436. 4

Question Number : 50 Question Id : 87827044144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct steps of Wood Carving?

(A). Timber

(B). Log

(C). Seasoning

(D). Carving

Choose the correct answer from the options given below:
1. (A), (B), (C), (D)
2. (A), (C), (B), (D)
3.(B), ( ), (C)
4 (C), ( (A)

ms]

Options :

878270173437. 1
878270173438. 2
878270173439. 3
878270173440. 4

Question Number : 50 Question Id : 87827044144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ [ =] ']

APl DI TGDHIRIT & Fo! a0 BT TG P
(A). c"lﬁé

(B). AT

(D)

Options :

878270173437. 1
878270173438. 2
878270173439. 3

878270173440. 4

Question Number : 51 Question Id : 87827044145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct process of piece mould making in Plaster of Paris-
(A).Demarcation on master copy

(B). Piece Mould

(C). Use of French Polish

(D). Mother Mould

Choose the correct answer from the options given below:

1. (A), (B), (C

C). (D)
2. (A), (C)

(C).

. (B), (D)
3. (B), (A), (D),

. (D),

4 (C), (B), (

(C)
(A).

=

Options :

878270173441.1
878270173442. 2
878270173443.3

878270173444. 4

Question Number : 51 Question Id : 87827044145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). AR DI R HHTD
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(C). g Tifer=1 &1 SUanT
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. (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A)

Options :

878270173441.1
878270173442. 2
878270173443. 3

878270173444. 4

Question Number : 52 Question Id : 87827044146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct process of armature making for clay modelling:
{A). attaching the mailleable wire to a free standing support
(B).use of steel pipe and base flange

(C). attaching butterflies on the armature to support the bulk
(D).final wire threading on surface of armature

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).
2. (A), (C), (B), (D).
3. (B), (A), (D), (C).
4 (C), (B), (D), (A).

Options :

878270173445. 1
878270173446. 2
878270173447.3

878270173448. 4

Question Number : 52 Question Id : 87827044146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o AISTET & foT iR §9H @1 9l uishdr g

(A). IR TR & TH Wad Ws TuIc § Siia]

(B). 1A U1 3R o9 Taisl &1 SUd

(C). ¢ @I TUIE B3 & [o18 THR W FTs S &I i Bl

(D). 3THTR @1 Odg W 3ifgq ar uf$T

-t fau U fadedl & ¥ 981 IR -

1. (A), (B), (C), (D
2. (A), (C), (B), (D
3. (B), (A), (D), (C

4. (C), (B), {D}; (A

). (D)
). (D)
)
)

Options :

878270173445. 1
878270173446. 2
878270173447.3

878270173448. 4

Question Number : 53 Question Id : 87827044147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct process of cement casting-

(A). Curing

(B). Setting

(C). Mixing of materials: Cement, Sand, Pabbles and Water
(D). Hardening

Choose the correct answer from the options given below:

1. (A), (B), (C
2. (A), (C)
3. (B), (A)
4 (C), (B)

), (D)
(B), (D)
(D), (C)

). (A).

=

(

Options :

878270173449. 1
878270173450. 2
878270173451. 3

878270173452. 4

Question Number : 53 Question Id : 87827044147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (

( ). (D)
2. (A), (C), (B)

(

(

(D)
), (C)
B), (D), (A)

P

3. (B), (A), (
4 (C),

=
O

Options :

878270173449. 1
878270173450. 2
878270173451. 3

878270173452. 4

Question Number : 54 Question Id : 87827044148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the process of Terracotta making, the steps followed in sequence, are
{A). Grinding

(B). Mixing

(C). Pouring Water

(D). Refining

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270173453. 1
878270173454. 2
878270173455. 3

878270173456. 4

Question Number : 54 Question Id : 87827044148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). THEAT

(B). frsor

(C). T arex

(D). gfesH o

i< feu 7Te fadedl § ¥ T8t SR I

1. (A), (B), (C), (D)
2. (A), (C), (B), (D)
3. (B), (A), (D), (C)
4. (C), (B), (D), (A)

Options :

878270173453. 1
878270173454. 2
878270173455. 3

878270173456. 4

Question Number : 55 Question Id : 87827044149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ldentify the correct sequence followed in the making of Teracotta?
(A). Firing

(B). Leather Hard

(C). Coiling

(D). Drying

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2. (A), (C), (E‘I (D)
3.(B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270173457. 1
878270173458. 2
878270173459. 3

878270173460. 4

Question Number : 55 Question Id : 87827044149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). TBTaRIT

(B). X TS

(C). BT

(D). @I

i< feu 7Te fadedl § ¥ T8t SR I

1. (A), (B), (
2. (A), (C), (B
(

(

=]

), (D)
), (D)
), (C)
B), (D), (A)

P

3. (B), (A), (
4 (C),

=
|

Options :

878270173457. 1
878270173458. 2
878270173459. 3

878270173460. 4

Question Number : 56 Question Id : 87827044150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Stone Carving|(!). Patina

(B). Wood (11). Glaze

(C). Metal (111). Claw Chisel

(D). Ceramic (V). Gouge

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270173461. 1
878270173462. 2
878270173463. 3

878270173464. 4

Question Number : 56 Question Id : 87827044150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

- -

(A). T DI FaprEi|(1). gfen

(B). P18 (I1). T

(C). UTg (1), T ed

(D). RS (IV). 7T

1 f3u T faweal & 9 98t 9% g9

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2. (A) - (1), (B) - (lll), (C) - (IN), (D) - (IV)

3. (A)- (1), (B) - (II), (C) - (IV), (D) - {III]

4. (A) - (1), (B) - (IV), (C) - (), (D) - (II)
Options :

878270173461. 1
878270173462. 2
878270173463. 3

878270173464. 4

Question Number : 57 Question Id : 87827044151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

(A). Alloy (). Stainless steel

(B). Non Ferous|(ll). Malleable

(C). Copper (Il). Gold

(D). Ferous (IV). Iron

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270173465. 1
878270173466. 2
878270173467. 3

878270173468. 4

Question Number : 57 Question Id : 87827044151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

gl il
(A). T8 H1g)(1). S0 I
(B). 3@l |(II). STargad=g

(C).d™  |am). IHT
(D). T |(IV). A&l
=1 feu v Aweul & | wet 3w 94
1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)
2. (A) - (1), (B) - (lll), (C) - (IN), (D) - (IV)
3. (A)- (1), (B) - (II), (C) - (IV), (D) - {III]
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (II)
Options :

878270173465. 1
878270173466. 2
878270173467. 3

878270173468. 4

Question Number : 58 Question Id : 87827044152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Wood (1). Axe

(B). Synthetic Clay(ll). Oil

(C). Terracotta (I1I). Resin

(D). Fibre Glass |(IV). Grog

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

8782701734609. 1
878270173470. 2
878270173471.3

878270173472. 4

Question Number : 58 Question Id : 87827044152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

gl il
{m @1 (). PRIS]
B). Uxaiftd gias|(11). dd

{C} ELIGA ()3T

(D) ISR WH  |(IV). TR
-Td feu U fadedl H 4 ¥el IR -

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A)- (D), (B) - (1N, (C) - (IV), (D) - {III]

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

8782701734609. 1
878270173470. 2
878270173471.3

878270173472. 4

Question Number : 59 Question Id : 87827044153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). lgneous Rock (). Granite

(B). Sedimentory Rock (). Sand Stone

(C). Metamorphic Rock [(IIl). Marble Stone

(D). Stoneware (IV). Porceline

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (D), . (D) - (lTy

(1l )

(B) - (I1), (C) - (IV)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il

Options :

878270173473. 1
878270173474. 2
878270173475.3

878270173476. 4

Question Number : 59 Question Id : 87827044153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:
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-1l

(A). 3T TEH

(1). TS

(B). HIHIGT IS

(I1). §TE BT TR

(C). PEIdRd 9gH

(I11). TTHTAR 6T TR

(D). UTHTUTTA

(V). DT oSt &1 &

1 f3u T faweul & 9 98t 9% g9

1. (A) -
2. (A)-
3. (A) -
4 (A)-

1, (

(B) - (1), (
(B) - (I}, (
(B) - (1), (

B) -

C) - (), (D} - (IV

C) -, (D) - (IV

C) - (IV), (D) - {III
|

(IV), (C) - (1), (D) -

(1, (D )
(1), (D )
(), ( )
(Il (I1)

Options :

878270173473. 1
878270173474. 2
878270173475.3
878270173476. 4

Question Number : 60 Question Id : 87827044154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI
(A). Wood (). Brick Dust
(B). Stone (II). Binder

(C). Terracotta (11). Mallet

(D). Papier Mache|(IV). Hammer

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV}

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270173477. 1
878270173478. 2
878270173479. 3

878270173480. 4

Question Number : 60 Question Id : 87827044154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

-l -
(A). D18 (1). STEPT 4
(B). U (I1). SESR
(C). S@lel  [(lll). Heie

(D). UIUER gr|(1v). 4TS

=1 feu v fAweul & | wet 3w 94

1. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV)

2. (A) - (), (B) - (1), (C)- (1), (D) - (IV}

3. (A) - (1), (B) - (1), (C) - (IV), (D) - {III]

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270173477. 1
878270173478. 2
878270173479. 3

878270173480. 4

Question Number : 61 Question Id : 87827044155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-l

Artists

Sculptures

(A).Mrinalini Mukherjee

(). Growing Stones

(B).Gurucharan Singh

(II). Seated Buddha

(C). P. R. Daroj

(lI1). Vanshree

(D). Ramkinkar Baij

(IV).Bottle

Choose the correct answer from the options given below:

1. (A)- (1), (B) - (IN, (C) -

2. (A) - (1), (B) - (1), (C) -

3. (A) - (1), (B) - (IN), (C) -

4. (A) - (I, (B) - (IV), (C) -
Options :

878270173481. 1
878270173482. 2
878270173483. 3

878270173484. 4

(11, (D) -
(1), (D) - (IV
(IV), (D) -

D) - (IV

), (D {III
I

)
)
)
(), (D) - (1)

Question Number : 61 Question Id : 87827044155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:
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(A). JOTITeHT TRast|(1). AT A
(B). Te=Ru g |(11). ¥ids g
(C). 4l 3R GRIS |(111). I3
(D). THBHI & (V). Fica
i< fou e fawea & & wEl 3w 94

1. (A) - (1), (B) - (IN), (C) - (1), (D} - (IV)
2. (A) - (1), (B) - (I1}, (C) - (1), (D} - (IV)
3. (A) - (). (B) - (I1), (C) - (IV), (D) - (11}
4. (A) - (I), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270173481. 1
878270173482. 2
878270173483. 3

878270173484. 4

Question Number : 62 Question Id : 87827044156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). PV Janakiram (). Ganesha, Oxide Copper

(B).L. Mehta (Il).Dancer, Porcelin

(C). Meera Mukherjee ((IIl). Monarch, Wood and welded metal

(D). Dhanraj Bhagat ((IV).Way side, Bronze

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)

Options :

878270173485. 1
878270173486. 2
878270173487. 3

878270173488. 4

Question Number : 62 Question Id : 87827044156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). U1 1. STESRME|(1). T0ET, AFES HIU

(B). T BEdl (). SR, grdfeq

(C). 1 g@sit (Il1). T, DY AR deas U]
(D). Y W |(IV). d TS, &I

1 f3u T faweal & 9 98t 9% g9

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)

D
D

Options :

878270173485. 1
878270173486. 2
878270173487. 3

878270173488. 4

Question Number : 63 Question Id : 87827044157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

(A).Bhartiya Murtishilp avam Sthapatya Kala((l). Dr. Meenakshi Kasliwal

(B).Contemporary art in India; A Perspective ((Il). John. W. Mills

(C). Encyclopedia of Sculpture Technigues ((lIl). Prannath Mago

(D). Ceramics A Potter's Handbook (IV).Glen C. Nelson

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)

Options :

878270173489. 1
878270173490. 2
878270173491. 3

878270173492. 4

Question Number : 63 Question Id : 87827044157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C). TAHTS gl SaT 31 THedgy ¢ iaad|(1ll). WoHETY T
(D). s T ulcd 595 V). TS I S
=i few v faweal § & 98 SR T4

P e

1. (A)-(
2. (A)-(l
3. (A) -l
4 (A)-(l

- (I, (C) - (1), (D) - (IV}
- (1), (C) - (11, (D) - (IV)
- (I, (C) - (IV), (D) - (liTy
) - (IV), (C) - (1), (D) - (11}

. (B) :
. (B) :
. (B)
(B

1),

Options :

878270173489. 1
878270173490. 2
878270173491. 3

878270173492. 4

Question Number : 64 Question Id : 87827044158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). Meera Mukherjee (). Dogra

(B). Mrinalini Mukherjee|((ll). Strings

(C). Subodh Gupta (lIl). Fibre Glass

(D). Ravindra Reddy  [(IV). Stainless Steel

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV
2. (A) - (D), (B) - (111}, (C}-(IN), (D) - (IV
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4 (A) - (111, (B) - (IV), (C) - (1), (D) - (Nl

(D
- (D
. (

i gt mg®  ugar®

Options :

878270173493. 1
878270173494. 2
878270173495. 3

878270173496. 4

Question Number : 64 Question Id : 87827044158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

gl il

(A). TRIg@s  |(1). SFRI

(B). HomferHT gsi(1l). e

(C). GEIU T [(IIl). BI3eR g

(D). ¥dig 331 (IV). B9 ®id

1 3T v faweul & 9 98t 9% g9

1. (A) - (D), (B) - (II), (C) - (i1}, (D) - (IV}

2 (A)- (1), (B) - (1), (C) - (I1), (D) - (IV)

3. (A) - (1), (B) - (II), (C) - (IV), (D) - {III]

4 (A) - (), (B) - (IV), (C) - (1), (D) - (II)
Options :

878270173493. 1
878270173494. 2
878270173495. 3

878270173496. 4

Question Number : 65 Question Id : 87827044159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Ramkinker Baij {1). Cement Concrete

(B). Pradosh Das Gupta|(ll). Mixed media

(C). Dhanraj Bhagat (111). Metal

(D). Balbir Singh Katt  |(IV). Stone

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (D), . (D) - (lTy

(1l )

(B) - (I1), (C) - (IV)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il

Options :

878270173497. 1
878270173498. 2
878270173499. 3

878270173500. 4

Question Number : 65 Question Id : 87827044159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &1 -1 & w1y e she:

gl il

(A). JEfEH a9 |(1). Gide dwie
(B). VeI &Ig T |(11). i3 Hifsar
(C). YIS W |(IIN). o1

(D). 9d7siR g Bg|(IV). TR

1 3T T faweal § 9 98t 9% g9

1. (A)-(
2. (A)-(
3. (A)-(
4 (A)-(

1), (B) - (II), (C) - (11}, (D) - (IV}
1), (B) - (II), (C) - (I1), (D) - (IV})
1), (B) - (IN), (C) - (IV), (D) - {llll
1T}, (B) - (IV), (C) - (1), (D) - (11}

Options :

878270173497. 1
878270173498. 2
878270173499. 3
878270173500. 4

Question Number : 66 Question Id : 87827044160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are the major works of Meera Mukherjee?
(A). Bottle

(B). Boatman

(C). Ashoka at kalinga

(D). Untitled (smiths working under a tree)

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270173501. 1
878270173502. 2
878270173503. 3

878270173504. 4

Question Number : 66 Question Id : 87827044160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR @Sl & W Hiagl o 1 g2
(A). STed

(B). SieaA

(C). 3P Te B

(D). Hersees (g afdhm Sfgr T e

Td feu e fgwedl § 9 981 S| .

Options :

878270173501. 1
878270173502. 2
878270173503. 3

878270173504. 4

Question Number : 67 Question Id : 87827044161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the works of Dhanraj Bhagat-
{A).Shiva Dance

(B).Monarch

(C).Queen

(D).Ganesha

Choose the correct answer from the options given below

1. (A), (B) and (D) only.

2_(A), (B) and (C) only.

3 {Fv (B). |G and (D).

), (C) and (D) only
Options :

878270173505. 1
878270173506. 2
878270173507. 3

878270173508. 4

Question Number : 67 Question Id : 87827044161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YARTS YT ] Dicrdl BT 90 DR

Td feu e fgwedl § 9 981 S| .

&ad (A), (B) 3 (D)
A

&ad (A), (ngiW.:Cj]
3 (A). (B), (C) ¥ (D)
&dd (B), (C) 3R (D)

Options :

878270173505. 1
878270173506. 2
878270173507. 3

878270173508. 4

Question Number : 68 Question Id : 87827044162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the Indian Artists and sculptors who worked in Santiniketan-
(A). K. G. Subrahmanyan

(B). Benode Behari Mukerjee

(C). Devi Prasad Roy Chaudhuri

(D). Ramkinkar Bai)

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270173509. 1
878270173510. 2
878270173511. 3

878270173512. 4

Question Number : 68 Question Id : 87827044162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tifadad 8 ® &34 didd YRAY SaldR] 3R JiieR] & T gd5¢
(A). &. Sfl. geHUgT

(B). fa1e faerd gl

(C). Tl THTG WY AERT

(D). THIBDH &1

T feU U faredl H ¥ 981 S T,
1. @ad (A), (B) R (D)
2 &ad (A), (B) 3R (C)
3. (A), {Eﬁ} G}Sﬂ'{f[]

Options :

878270173509. 1
878270173510. 2
878270173511. 3

878270173512. 4

Question Number : 69 Question Id : 87827044163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ramkinkar Baij has following characteristic in his sculptures-
{A). Cubism

(B). Expressionism

(C).Dadaism

(D). Abstract

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2_(A), (B) and (C) only.

3 {A* (B). |G}and (D).

), (C) and (D) only
Options :

878270173513. 1
878270173514. 2
878270173515. 3
878270173516. 4

Question Number : 69 Question Id : 87827044163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MR S5 @1 3o gfdar 7 Fofafed ket @
(A). I-dlg

(B). HHATHIAIG

(C). qlemErg

(D). 3

Td feu e fgwedl § 9 981 S| .

&ad (A), (B) 3 (D)

@ad (A), (B) R (C)
3 {Fv (B), (C) 3R (D)
&dd (B), (C) 3R (D)
Options :

878270173513. 1
878270173514. 2
878270173515. 3

878270173516. 4

Question Number : 70 Question Id : 87827044164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the Artists who have monumental and enviromental quality in their sculptures-
(A). Kanayi Kunhiraman

(B).Ramkinkar Baij

(C).Sarbari Roy Chauduri

(D). Subodh Gupta

Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A),
4 (B),

B) and (D) only.
B) and (C) only.
B), (C) and (D).
C) and (D) only

g g

Options :

878270173517. 1
878270173518. 2
878270173519. 3

878270173520. 4

Question Number : 70 Question Id : 87827044164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 HABRI ® 7 Fa5U @] Gidal § WR®E R gaiax gee o T

(A). BT o RIAA
(B). IHTHHT &
(C). T I e
(D). gaTY T

Td feu e fgwedl § 9 981 S| .

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), m::.aﬂ?fn
4. ®ad (B), (C) 3R (D)

Options :

878270173517. 1
878270173518. 2
878270173519. 3
878270173520. 4

Question Number : 71 Question Id : 87827044165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the pure clay from the following options?

(A). Kaolin Clay

(B). China Clay

(C). Red Clay

(D). Black Clay

Choose the correct answer from the options given below

1. (A), and (B) only.
2. (C)and (D) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270173521. 1
878270173522. 2
878270173523. 3

878270173524. 4

Question Number : 71 Question Id : 87827044165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrgfaRad fadedl 5 9 Iz B2l T2
(A). DI gl

(B). = HiidT

(C). STt Ffeia

(D). BTei FiaT

i< feu 7Te fadedl § ¥ T8t SR I

1. ®ad (A) 3R (B)

2. &ad (C) 3R (D)

3. (A), (B), (C) 3R (D)
4. &dd (B), (C) AR (D)

Options :

878270173521. 1
878270173522. 2
878270173523. 3

878270173524. 4

Question Number : 72 Question Id : 87827044166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Types of stones found from Igneous Rock?
(A). Lime Stone

(B). Granite Stone

(C). Marble Stone

(D). Basalt Stone

Choose the correct answer from the options given below

A), (B) and (D) only.
)and (C) only
), and (D) only.

(
(B
(B
(B), (C) and (D) only

2.
3:
4 (B),
Options :

878270173525. 1
878270173526. 2
878270173527.3

878270173528. 4

Question Number : 72 Question Id : 87827044166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIT IS § UTT §H a1 TRl & UhR B
(A). T BT TR

(B). T1ZE TR

(C). TR & TR

(D). SHTeE TRk

Td feu e fgwedl § 9 981 S| .

1.%ad (A), (B) 3R (D)
2 3ﬁﬁﬁ{Biﬁq_|C}
3 3ﬁﬁﬁ{Biﬁq_lD}
4W{B (C) Sﬂ'{rD

Options :

878270173525. 1
878270173526. 2
878270173527. 3

878270173528. 4

Question Number : 73 Question Id : 87827044167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which material is called a natural cold-curing rubber?
(A). Latex

(B). Silicon

(C). Polymer

(D). Gelatine

Choose the correct answer from the options given below

1. (B) and (D) only
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (A)and (D) only

Options :

878270173529. 1
878270173530. 2
878270173531. 3
878270173532. 4

Question Number : 73 Question Id : 87827044167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



for g Ol @ Uidfam Md-3UaR] I6R del ol 52
(A). T

(B). ol

(C). UTfeR

(D). Foraifest

i< feu 7Te fadedl § ¥ T8t SR I

1.@ad (B) 3R (D)

2. ®4d (A), (B) HX (C)
3. (A), (B), (C) 3R (D)
4. &ad (A) AR (D)

Options :

878270173529. 1
878270173530. 2
878270173531. 3

878270173532. 4

Question Number : 74 Question Id : 87827044168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the highly Polished Metals?

(A). Bronze

(B). Copper

(C). Aluminium

(D). Stainless Steel

Choose the correct answer from the options given below

1. (A),
2. (A),
3 {A‘

B) and (D) only.
B) and (C) only.
B), |G and (D).
C) and (D) only

(
(
(
)1
Options :

878270173533. 1
878270173534. 2
878270173535. 3

878270173536. 4

Question Number : 74 Question Id : 87827044168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HARD UlerRe YTt & A Fdrgu?
(A). DY

(B). diaT

(C). TegHifTH

(D). T Wi

Td feu e fgwedl § 9 981 S| .

&ad (A), (B) 3 (D)
A

&ad (A), (ngiW.:Cj]
3 (A). (B), (C) ¥ (D)
&dd (B), (C) 3R (D)

Options :

878270173533. 1
878270173534. 2
878270173535. 3

878270173536. 4

Question Number : 75 Question Id : 87827044169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which material provides extra strength to Plaster of Paris Casting?
{A). Pin

(B). Hemp

(C). Burlap

(D). Dust

Choose the correct answer from the options given below

1. (B) and (D) only
2. (B) and (C) only
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270173537. 1
878270173538. 2
878270173539. 3

878270173540. 4

Question Number : 75 Question Id : 87827044169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D H O el @R {6 U S1RET & sifafvad aoied! UeH Hdl 672
(A). o=
(B). ¥
(C). §¢ig

(D). ¥d
I feu U fasedf § € 8 TR I

1. @dd (B) 3R (D)
2 ®ad (B) 3R (C)
3. (A), (B), (C) ¥R (D)

4 ®ad (B), (C) 3R (D)

Options :

878270173537. 1
878270173538. 2
878270173539. 3

878270173540. 4



